## **Radical Equations**

Goal: to solve radical equations.

Solve  
a) 
$$\sqrt{3\times +1}$$
 (#)  $2 = 7$ .  
 $\sqrt{3\times +1}$  (#)  $2 = 7$ .  
 $\sqrt{3\times +1}$  (= (5)<sup>2</sup>  
( $\sqrt{3\times +1}$ )<sup>2</sup> = (5)<sup>2</sup>  
( $3\times +1 = 25$ )  
 $3\times = 24$   
 $\times = 8$ .  
( $3$  solve  
( $3$  check

b) 
$$\sqrt{x+3}$$
  $+$   $\sqrt{x+19}$   $=$  8  
 $-\sqrt{x+19}$   $-\sqrt{x+19}$   
 $(\sqrt{x+3})^{2} = (8 - \sqrt{x+19})^{2}$   
 $(\sqrt{x+3})^{2} = (8 - \sqrt{x+19})^{2}$   
 $x+3 = 64 - 16\sqrt{x+19} + (x+19)$   
 $x+3 = 83 - 16\sqrt{x+19} + \frac{1}{2}$   
 $(x+3)^{2} = 83 - 16\sqrt{x+19} + \frac{1}{2}$ 

Section 7.5 The Four Operations on Radicals Page 1

$$\frac{+3}{-16} = \frac{+3}{-16} = \frac{-16}{-16} \sqrt{10} = \frac{-16}{-16} \sqrt{10} = \frac{-16}{-16} \sqrt{10} \sqrt{10} = \frac{-16}{-16} \sqrt{10} \sqrt{$$

 $(A \ominus B)^{-} = A^{2} - 2AB + B^{2}$ 

$$C)\left(\sqrt[3]{4\times+9}\right)^{3} = \left(\sqrt[3]{5-2\times}\right)^{3}$$

$$\frac{4\times+9}{7\times-9} = \frac{5-2}{7\times}$$

$$\frac{6\times=-4}{7\times-9}$$

$$\frac{6\times=-4}{6} = \left(-\frac{2}{3}\right)^{3}$$

d) 
$$\times^{\frac{1}{4}} = 2 = 1$$
  
 $\times^{\frac{1}{4}} = 3$   
 $(\times^{\frac{1}{4}})^{\frac{1}{4}} = 3^{\frac{1}{4}}$   
 $\times' = 81$ 

Section 7.5 The Four Operations on Radicals Page 2

x = 11 V

$$e \left( 2 \cdot (4 - y)^{\frac{4}{9}} \right)^{\frac{4}{9}} = \left( 6^{\frac{4}{9}} \right)^{\frac{4}{9}} = 2^{\frac{4}{9}} \left( (4 - y)^{\frac{4}{9}} \right)^{\frac{4}{9}} = 6$$
  
$$i \left( (4 - y)^{\frac{4}{9}} \right)^{\frac{4}{9}} = 6$$
  
$$32 - 8y = -29$$
  
$$y = -29$$
  
$$y = -29$$

$$\begin{array}{c} y_{0 u} \quad T_{n y} \quad I + \left| \\ & 4 + \sqrt{5 - x} \\ -4 \\ \hline & -4 \\ \hline & (\sqrt{5 - x})^{2} \\ \hline & (\sqrt{5 - x})^{2} \\ \hline & (x - 3)^{2} \\ \hline & 5 - x \\ -5 + x \\ \hline & + x \\ \hline & -5 \\ \end{array}$$

$$\begin{array}{c} (A - B)^{2} \\ = A^{2} - 2AB + B^{2} \\ \hline & 17 \\ \hline & 1$$

Section 7.5 The Four Operations on Radicals Page 3

-5 + x + x = 5  $0 = x^{2} - 5x + 4$  0 = (x - 1)(x - 4) 1 = (x - 1)(x - 4) x = 4 x = 4